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Question No. 1 is compulsory, answer any TWO questions from the remaining.

Start each question on fresh page.

YRIFE Y9 & Y1 97T F) FHEAR TF G & Hifd |

Solve all parts of a question consecutively together.

(iii) §eIF ¥ 1 73 95 & JRT Fiford |
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Only English version is valid in case of difference in both the languages.

o 29 o a1 | HE | wHerE |

Explain about busy tone in brief.

AT AiRedT & a1 | Higa | garsd |
Give brief idea about application software.
wito feafsm & e & afa | swere |
Explain about combination switching in brief.
gfgga dand #=1 gt 2 2

What are enhanced services ?

Z1eq fefasm feaem d 9 wedifaem a8 7

What is source multiplexing in time division switching.

s feafen &= 4 faafta wa.ft 4. % an d swened |
Explain about distributed SPC in a switching system.
ua freatia gt feafem & an § wwemsd |

Explain about a three stage combination switching.
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Explain about an input controlled time division space switch.

& N X N J2as & feeafia frego & an o aagmsd |

Explain about two stage representation of N X N network. (12%4+12%)
2138 Hedieraeg 2gn feafam & o | gy |

Explain about time multiplexed time switching.
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With a suitable block diagram explain about working of an electronic telephone
handset.

(12%+12%)
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Explain the difference between space division switching and time division
switching.
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Explain about basic time division time switching. (124+12%)
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How is the calculation of switching element and switching capacity done in a
two stage network ? Explain.

23H Hedeiae T feafan & an o gugned |

Explain about time multiplexed space switching. (12%4+12%%)

gordeie v feafem o gigeaay snfdheasn = g 2 7 awgmsd |

What is Software architecture in electronic space switching ? Explain.

s a3, qofa: F¥aee Jead qun feafn S % it i e |

Explain about switching system, fully connected network and switching office.
(124+12%)
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Write short notes on any two of the following :

(i)

3.4t .0 bt v
EPAPX

(i) wE.dH. (R T )

SPC (Stored Programme Control)

(iii) Frfa frafa om fefaem e

Output controlled time division switch (124+12%)



